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AHAERT 99 119 115 234 IBTHN 11,972 11,867 13,135 25, 002|%ET =T H 150 148 128 276 F RAHRT 521 652 723| 1,375
ARYHT 222 207 220 427 FEIT=TH 130 132 124 256  HEHIX 3,075 3,970/  4,102| 8,072
JEBT 354 333 378 T11| 5 EHT 235 278 284 562|FETIU T H 69 53 54 107
B 535 562 595 1, 157|fRiENT 3,480 3,884 3,904 7,788] AHFHHX 9,931 10,858 10, 188| 21, 046|F A JHT 328 454 476 930
& ST 308 313 336 649| FrifHT 198 223 240 463 A ET 194 303 315 618
FE M 277 258 274 532| 7 T 518 537 562 1, 099 Hr T 1,008 1,282 1, 339 2, 62151 LmT— T H 661 828 948 1,776
)1 ET 119 130 139 269[iTART 3,226  3,553| 3,645 7, 1988 H AT 355 439 465 904( 41 LIBT — T H 228 282 302 584
KAGHT 650 638 627 1, 265| HyRHAT 3,021 3,453| 3,613 7, 066 H 2 MT 1, 666 1,874] 2,015 3, 889 HR/JN =T 638 818 858 1,676
$RmT 17 12 20 32| T 562 646 656  1,302| H My 869 1,082| 1,090 2,172 L4 mT 1,374 1,801 1,931 3,732
FSHT 61 55 67 122| B mT 1,248|  1,503| 1,521  3,024| #HremRHX 3,898  4,677| 4,909 9,586 Fg/\iEHLX 3,423  4,486| 4,830 9,316
b= T 221 254 294 548| KARHT 159 169 179 348
drisET 68 58 66 124| A YERT 340 417 469 886| H-EFHT 2,574  2,901| 3,037 5, 938|4 EET 444 499 565/ 1,064
JUREHT 123 106 130 236| HERNT—T H 336 418 447 865( A/ \AHT 1,014| 1,231 1,169 2, 400|ZEIGHT 267 363 371 734
HHET 157 119 111 230 HHRET T H 372 460 430 890| /1N J\AHT 1,159 1,452 1,426| 2, 878|HH MHET 746 858 899 1,757
TREHT 78 61 81 42| ERIT =T H 418 488 497 985| IE@L=FHT 385 479 528 1, 007 | HH ELmy 187 243 246 489
FFIHET—T H 156 144 175 319(HERETIU T B 280 383 402 785|[FEETE —T H 44 46 16 62( R Hmy 982 1,259 1,326 2,585
FRIHET T H 111 118 115 233  FRMIX 14,393 16,412 16,849| 33, 261|EMTPE T H 97 98 83 181 EHT 585 780 795/ 1,575
FFAIMAT =T H 129 139 148 287 fErT—TH 224 210 246 456 X 3,211 4,002 4,202 8,204
FRTHETY T H 143 176 182 358| A1 JFHT 3,520| 4,146 4,319 8, 465| M= T H 36 36 39 75
A FalT 450 465 523 988| T —T H 260 301 325 626(HEAT =T H 14 14 17 31| AR EFIT 5,280  6,359| 6,491 12,850
=F: L 19 14 23 37| FHIRT =T H 569 664 728 1, 392|HERATIUT H 101 111 110 221 JEHT 145 187 227 414
iy 168 166 192 358 T Rl =T H 824 893 970 1, 863|ULLMT 1,761 2,151 2,239 4,390 AEEFHX 5,425  6,546| 6,718 13,264
=R 47 32 48 80 =52 HT 1,786 1,827| 2,006 3,833] )I[HX 7, 409 8,729| 8,910/ 17,639
T 181 161 192 353| FEfHT 1, 381 1,570| 1,616 3,186 RIRHT 394 512 558 1,070
RILHT 476 508 546 1, 054|ZLFHT 182 199 220 419( 4 FHmT 469 537 610 1, 147|5X HHET 482 562 597| 1,159
(=) 39 36 37 T3\ FHRHET—TH 469 547 501 1, 048 | Al T 2,116|  2,572| 2,504 5, 076| k%M 543 690 644 1,334
fEFHET 88 76 92 168\ TR =T H 349 375 408 783| N E T 210 276 307 583 74 5 HT 125 160 144 304
HEAHT 45 40 48 88|\ FHRET=TH 424 486 517 1, 003 &=y 1,026 1,274 1,362 2, 636|FKFHT 504 722 727 1,449
FHET 212 195 215 410[ )\ FARETIY T B 366 439 492 931 ffiRET 480 600 610 1,210 50T 344 430 403 833
f=Lg 175 189 193 382 Al X 10,130 11,447 12,102| 23, 549|HTE=HT 367 400 469 869|Jt 4 T 460 613 612| 1,225
T bET 573 617 662 1,279 J\ T 1,984 2,517| 2,589 5,106 It EX 2,852| 3,689 3,685 7,374
FEASHT 29 24 28 52| b EFmy 2,160 2,599 2,648 5, 247|F5 HET 118 165 171 336
ST 530 522 598| 1, 120|{&=BFERT 35 40 45 85 I\ H1X 6,770|  8,341| 8,622 16,963| LiHT 235 344 319 663
FRHT 27 29 33 62| k- EaT 3,322| 3,783 3,673 7,456 TERETHT 128 189 191 380
LT 169 162 170 332| AL AT 349 413 470 883| b5 fi] W] 1,150| 1,449 1,468|  2,917| F75 HHET 139 202 195 397
JEET 198 175 220 395 2HT 617 624 632 1, 256| & ET 1,795 2,162  2,208| 4, 370| Fi&HT 354 487 456 943
AT 370 369 400 769 TP HT 1,093 1,347 1,351 2, 698| [ T 790 975/ 1,010 1, 985|H FHT 271 424 406 830
R AT 41 36 43 79| 23T 1,227 1,619 1,624 3, 243|dL/AfRHT 417 493 554| 1, 047|PEAETET 362 411 379 790
AT 1,591 1,659 1,810 3,469 F T 927|  1,166| 1,142|  2,308| X 4,152|  5,079|  5,240| 10, 319|/\iE/FHT 287 413 444 857
fi FE T 218 223 252 475 1% PART 406 488 486 974 ) | 1 (X 1,776 2,470| 2,390 4,860
izt 120 129 148 277\ ERT— T H 496 587 559 1, 146|7hHT 462 580 578 1,158
F T 158 143 157 300 BT Z T H 1,415 1,579 1,828 3, 407| 49 T 407 543 518 1, 061\ APHMT =/ £ 491 675 688 1,363
‘wr eHT 197 178 249 427\ HERT =T H 590 691 754| 1, 445| AL HT 152 214 208 422( A vAIRTHE 428 590 595/ 1,185
Amy 191 165 203 368| HEATIU T H 557 686 686 1, 372|147 /10T 127 177 191 368| AHET KA 170 251 254 505
JEAHERET 60 51 32 83| WMy 852 985 999 1, 984|111 1, 109 1,458 1, 540 2, 998 A AT S5 K 116 169 171 340
A1) 329 351 418 769 Fi1 FH £ Hr T 551 597 556| 1, 153|m HrimT 348 446 477 923| A AINT) 11 358 457 483 940
)1y 231 190 268 458|  fEEFHIX 14,597| 17,204| 17,453| 34, 657|%ERIHT 428 554 568 1,122 ATAHX 1,563 2,142 2,191 4,333
1L FHET 114 109 113 222 Felgmy 221 297 308 605
S1) 89 84 99 183| b/ sy 758 894 946 1,840 EHX 3,254  4,269] 4,388 8, 657|SEARHTPEH]R 708 946/  1,017| 1,963
Pu > T 41 47 50 97| F/NtgmT 445 580 643 1,223 FERHT S BT 83 111 128 239
el 50 61 57 118 kA my 3, 057 3,171 2,736 5,907 ERJHHT 1,090 1, 305 1,353 2, 658| FEHRHTHA Z IR 340 232 209 441
G mT 88 93 79 172 T/ BHT 2,120 2,344 2,179 4, 523|175 KAHHT 269 389 403 T92| EEHBHT R J5E 820 1,167 1,191 2,358
JHIAERT 232 239 266 505| T/ HT 1,513 1,622 1,558 3, 180| L&irlT 599 826 819 1, 645 FEHRMT HH = 392 549 568 1,117
FEHAHT 427 355 438 T93| HUAHHET 1, 404 1,640 1,611 3, 251 FRJFEAT 397 544 552 1, 096| FARHT F2 1,121 1,479 1,572 3,051
i FH T 171 172 160 332|FkIT—T°H 285 274 209 483| FFRHET 199 254 252 506 FEAPHT T 674 934 975 1,909
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M [ 324 520 512 1, 032| & FHMT Jy 1L 174 287 273 560
FEHRMT 201 301 307 608| 5 HHTAYD 457 642 621 1, 263
FEPRETFT A (L 139 200 214 414 E AT 276 362 375 737
FEHRMT )1 402 556 592 1, 148 & Hmyh 474 699 660 1,359
FEYRIT P 6 5 10 15[ & HHT % H 408 566 609 1,175
FEHRMTAAAIR 769 1,114 1,141 2, 255|FHMTLHA 98 152 156 308
FEGRET A i 1, 448 1,924| 2,006 3, 930 & H- M7 32 47 55 102
PR HE X 7,427|  10,038| 10,442| 20, 480| & HmTRp{R 282 406 430 836
EEaalp: 210 202 245 447
Sl ET 3,148  4,138| 4,304 8, 442|FHHETHA 39 64 60 124
paislag 1, 388 1,753 1, 899 3, 652| 5 FHHT IR 13 13 17 30
5| FE T 412 566 613 1, 179| HIHRT L B 361 531 555 1, 086
3=t 1) 133 189 200 389 FHHTTRIR 41 61 75 136
T faf v ] 223 251 253 504 & H-ET £ 1 119 179 167 346
77K T 72 113 109 222| EHHTH S 132 216 208 424
% JE[RIET 63 99 106 205| 5 HET/NER 322 448 480 928
B S HT 171 265 267 532| & T EAE 105 170 187 357
V5[ 5y HT 209 314 317 631| E AR I 166 234 227 461
b Iy 312 390 361 T51| & FHHT /N 200 302 305 607
T e AT 2,808  3,748| 3,689 7, 437|E TS 516 740 719 1, 459
AT 1,052 1,341 1,347 2, 688| & FHTRI— T H 316 411 435 846
=AY 641 896 917 1, 813 EFHMTEME T H 342 444 476 920
R AT 1,304 1,636 1,591| 3,227 EHFHETEEEAE =T H 227 317 311 628
[iZ1=1a) 1,060 1,394 1,341 2, 735| & HHT A 292 444 444 888
rh ELET 389 507 552 1, 059) & H-HT T B 93 139 145 284
PR T 559 763 781 1, 544| & FEMT_FBLSE 144 206 199 405
FEHET 479 620 686| 1, 306| R HET 59 96 92 188
RER X 14,423| 18,983 19,333 38,316| #HfFHX 8,988 12,530| 12,801| 25,331
iy 5,449 6,288 6,426 12,714
T b X 5,449 6,288  6,426| 12,714
R T 1,165 1,608 1,705 3,313
rh = AT 983 962 1,171 2,133
S AT 457 652 641 1,293
B4 LT 121 72 102 174
R4 IHIRT 49 47 69 116
R ERT 334 518 542| 1,060
LT 855/ 1,159| 1,215 2,374
o L LT 653 920 903| 1,823
- HLRRT 954/ 1,315 1,391| 2,706
AT 845 1,185 1,198/ 2,383
e T 675 948 980 1,928
FaHT 149 229 228 457
+- 3T 197 305 277 582
B PRHT 331 500 487 987
=Y FRET 106 145 147 292
[URLa) 117 166 173 339
R4 X 7,991 10,731 11,229 21,960
E R 626 810 826 1,636
IR E IR 1,170]  1,436| 1,503| 2,939
E R RAR 216 322 331 653
IR RAR 941 1,366 1,395 2,761
2 HEET/M 137 218 220 438 w A E 152, 109| 184, 758| 190, 145| 374,903




